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= (x4 2y 2y (x+y 4 m2)
_ =224 3ay 42y +m)az-- 14 2miyz4-Ima2.
iR TRt R I4+m=3, |4+3Im=>5 [lm=2.
Som=2, I=1.
(%] = +3-’1J+21/ 4 3zx4Eyz4 222 = (x4 Ry 4 2) (x+y 4 22).
Y
g B XX %194
AT ERZIHAL '
1. 285—-7z46.
i8] 14074611
1416
1416, 0[
2+6
1+3 0

(] ®-Tr+6=(r—1)z—2)(x+3).
2 at46a241114-6

(7] 14641146] —2
—9— 86
I+a+ 3, 0] =3
—3_ 3
141, 0
(%] 2°4+62°+1la46=(x+2) (x+3) (@ +1).
3. 2t —10a84352% - 504424,
[#3] 1—-10435-50424 1
1— 94+26—24
1— 9426—24, 0]2
214424 —
I— 7+12, 03
3—12 -
I— 4, 0

(%] z4—10234-352* =502+ 24 =(x<1)(xz—2)(x— 3)(:-4)
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4 14 -23243z-2.

[#7] 140-243-2]|1
14+1-14-2
141142, 0] —2
—24-2—2 -
1-141, 0
(]

24 —222 43 —2=(x—D(x+42) @*—z+ 1),
B, 643—-13z%2—142-3.

-

[#8] 6-13—14-3)3
F1841543
64+ 5+ 1, 0] —3
— 31
2642, 0
34 1

[2] 628—1322—14x—3=(x—3)2at1)Bz1-1).
6.

(#%]

213 — by — 2ay® 4 2yt.

2—5-242]%
d1-9—2

2[2=4—4, 0
1—2—2

(%] 22° 527y —Ray?4- 2% = Rz —y) (22— 22y — "y
=Qz--y)lz—1+VIyllr— 1=yl

T 2u4—1%—9:24132 -5,
(421 2—1-9413-5]1
41— 845
e4+1—84 5, 0|1
23— 5 -
435, 0]1
245 _'
245, 0

(%] 22 — 2922 4132 — 5 = (c — 1)¥2x LK)
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H gz AN
8. 4a®—4lat4-4622—9.
(4] 44 0—414 044640—-9] —1
4 48T —3T 949
4— 437437+ 99, 01
44 0—374 049
44 0—574 0+ 9, 0] =3
1 464 3— 9
4—12— 14 3, 0]3
124 0— 3
44 0— 1, 0]-1/,
— 241 T
2/4—"2, 0
Z— 1

(2] 428- 41441622 - 9= (a4 1) (- 1) (c+ 3) (- 3) (224 1) (2 - 1).

9. 6204190422054 23224 1624 4.
42 64+19492 42341644 | —2
—12 - 4~16 14 —-4
6+ 7+ 84 T4+ 2, U=y
MNP
~[h+ 4+ [ 4, 0
3+ ot 3+ 2 ?‘_;—2/3
34+ ()+ 3, t)
TJFqui
(2] 62°+192%42228+ 2322+ 160+ 4= (v+2) @r+1) Bz +2) (22 +1).
10, 5u% 725 —82% —a34 7224+ 8x—-4
(h#) 5-- 7- 8—1T T4+ 84| —1
— 54124 51244
---1‘7+ 4-h412— 4, 01
5 73— 84 ¢
5— ’:: 3-84 5 02
104 646 4 o
54 34 3-2, 0%/,
‘J+ 2+‘) -
5| 5 54 5, 0
1+ 14 T
(o] 5ab—7e®—8at— 4724 80— 4

=(z+1)z— 1)\4«‘“~)(53J«‘—?3) 2> o4 1).
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AN UK: 0 RN

1. ) &—42--12=0

43 i DR @4 2)(r—6) =0,
(%] x=-2, 6.

12, (7] 62%—7x+4+2=0.

4y iR SN (3z—2)Qa—1)=0.
%] x=3% %

13. (&3] 2*—b5zr=14.

I, AR s @—7)x42) =0,
(%3 z==%, -2

14. [#g] 2*4+6x=2.

B, S 24604+9—11=0, ) a+32-11=07

SN (24344 1D (x+3— 4/ 11)=0.
(] a=-3—-v11, —-3+VI1L
15. [f2] a®—9224-260=24.
Bm ¥ - 9224 206r—24=0,
S R KK 1—-9426—24 |2
4214424 T
1—7412, 0]3
+3-12 o
1—4, 0
(t—=2) z—3)(x—4)=0.
(%] ==2, 3,4

16. (87 4228 422 —2x4+3=0.

g AL 142-4-243 |1
+143-1-3
143—-1-3 0]1
e e b e B
14443, 0] -1
-1-3
143,70

fo =02 rd w4 3) =0,
%] x=1,1, -1, —3.
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17. [#g] *-1=0.
i ALEN (x—1)(z*4x41)=0.

i L4zt l=2"+2+ 1 +i:(x+_21__>z_(i%§),

5,

=(o+ 5 +73) (et 5

1 _z\/3 1 t_\/j
(&) z=1, L83, 1LV
18 [f#&] 102° —9x2——3x+2=0.
SRR 10— 9-3+2]1
+1041-2 —
104+ 1-2, 0] =%
— 542 —
2[10— 4, 0
5— 2

-1 Rx+1)dzx—2) =
(%) z=1, -}, 5.~

g @ XXI #5195 57

1. [82] 6xy+152—4y—10=3x(Ry+5) —-2(2y+5)
=3z —2)(Ry+45).

2. [MR] a*bc—ac?l—ab?*d+-bed?=abac—bd)—cid(ac—bd)
=(ab—cd (ac-—-btd).

3. [#] da¥a—-b)+t¥b—a)=a®la—b)—bt® a—0b)
=(a--b)(a®—13) =(a—b)*(a®+tab i L3).

4. (M) a®—8lub® =a(a?—81b%) =a(a*— 942) a4 90Y)
=a’a+3b)la—3b) a®-90%).

6. [82] a'db—a b¥+aPb*—abt=ab(a®—ab*+a?b—b%)
=ab a+t){a*—b% =abla—t)(a+tb)3.

6. [#R] 3abx®—6ary+bry—2y*=3ax(bx—"2y)+ybx—_2y)
= (3azx+y)(bxr—2y).
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7. [#8]) 32" —192y%=3(x%—64y%) =3(2%+8y3) (23 —8y3)
=3(x+2y) (x% — 22y + {y?) (x — 29) (@2 + 2xy + £97).
8. 8] (*+x)d—-8=E"+tr—-[(2*+2)2 42>+ x)+4]
=(z—-1)(z42){(1t 4228 4 322+ 22 4- 4).
9. [#R] 642%°—y=y"(61a%—y'%) =y3 (B84, (82— 9
=y2Q2x+y*) (4o — 2xy’ +y*) Rz — y?) (422 + 2y 1Y),
10. [47) 2*—(a—b)xz—ab=(x—a)(z+D).
11 (7] #—32"—18=(a"—6)(z"+3).
12, (4] z—22+42=424ax—2=(T—x(6+4x).
13. [(#2] 324 32°—242—24=32%x+1)—24(x+1)
=34+ 1) (2 —8)=3(x+1)(x—2)(a% 422 4 4).
14. (18] 25— 92°4822—12=2%2%—9)4+8(z*—9)
= (2®+8;(2® - 9) = (r4-2) (2% — 2zt 4) (x4 3) (z —3).
15, (8] ?2zc—a?42%—2ab4-c?—b3
' = (2?4 2xe %) — (a®+2ab - b%)
=(x+c)*—(a+b)?
=(x+tctadbd) (xdc—a—b).
16. [#2] 2*(2*—20)+64=2%—2022164
= (2% —16) (z — 4)
=@+ Hlx—4){x+2(z—2).
17. (M) & —2ab+b2—5a+5b+6=(a—b2—5(a—b)-}-6
=(a—b—3)a—b—-2).
18. [#F) a*—1C22249y*=(2—y?%)(2*—9y?)
= (x+y) (z—y)(x+3y) (x—3y).
19. [#2) 6a®—Tzy—5y*—4x—2y
=QRz+y)Bx—5y)—2Rx+y) = Bx—5y--2) Rz+y).
20. (] a'—(a®+D3)a+a®h?i= (a®—a?)(a? - b3

='z+a)x—a)(x+b)(x—b).
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21.

22.
23.
24
‘ 25:
26.

27.

23,

29.

0.

31

(82]) 4@ztuy?—(2—y*422—u?)?

(%]
[#%]
(#2)
[£%]
(##]

(2]

(48]

=2rz42uy + 2% — Y 42— uBRxz+ uy — 2?4yt — 22 Hu?)
=[(z+2)2— @y —uw)?][—(x—2)"+ (y+u)?]
=@tytz—wx—y+tetu)(@ty—2t+w)(—s+yt+2+tu)
1422 4+192 —3= Rz +3)(Tx—1).
1418y — 66y% = (1 —3y) (1 4+ 22).
zy3 45522y 4 20428y = 2y (y? + 5bxy 4+ 2042
=xy(y+4x)(y+51x).
a® — 8a2b2c2 4 81b4ct = (a? — 9b3c?)3
= (a-+ 2bc)%(a — 3be)?.
(a2 —72)% 4 62% — 422 = (22— Tx)? 4 6 (22 — T2)
=x(x—T)2?~T246) =2(x—T7)(x—6)(x—1).
8(z+y)?—27(z—y)?
=[2z4y) -3z - I[4@+ )+ 6@+ y)(@-y) +z-yr
= by —x) (Ty?*—10ay 4+ 19a%).
(x—2y)ad—(y —2)yd =at — 228y — y* 4 2298
= (2t —y*) —2y(a®—y?)
= (2 —y?) @+ y?) — 2y (2? —y?)
= (@4y) (@ —y)a* -2y +y?)
=(z4y)(z—-y)d

(MR] 2*4a’—bzr—ab+Rz=(z+a)*—b(z+a)

=(x-+a—b)(x+a)

(#2] 2°-¢*—(@—yl=@—y e +1ly+a" Ly’ o)

(#%]

—(z —y) (& — 4aBy 4622y — day® + 1)
=(z—y) 5% — 527y 4 52y)
=5zy(r — ¥ (a® — 2y 4¢?).

20—z — 2284222 —1

=8z —1)—22%(x—1) 4 (x—~1)
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=(x— (2224 = (z—1)(a?-1)2
=4 )i ax-1)%8
32 [$B] D40 4l bt ] — LR (B2 )2 b2
e (W e 1) D2 - b1
33 [(#B) o 2t Tay+34249c4% 5= @@+ 3y+)QRuty+m)
=2 4+ Try 43y 4 U4 m)ya+ U4 3my+n.
Hoo¥ (0 85 Ut+m =9, I4+3m=2, Im= =5,
om=—1 [ =5
(&) 224 7zy4 224904y -5 =24y +5) 2x+y—1).
24, [(87) '+ l=atH 4Lt = (PR —( a)?
= (@t 20 42 (at — 2a - 2).
35. [#%] @ a—ay—yitdaz—Lyz4-32°
=(x—Ry+{z) (x4t y-+t+me)
=2% —ay — "y (m4Drz— @m —Dyz 4 1mzt
Wl {7 3% nmA4l=4, qm~1=5, lm=3.
Som=3, Il=1.
(2] 2% —ay %+ 4wz —byz4 2322 = (x -2y +2) x4y 4 32).
36, (82 4a*+3a¥P 4900 = et - 122524+ 961 — Ba2?
= (2a®436%2% — (3ab)?
= (2a 4 3ab+ 3% (a® — Bab 4 3b%).
37. [#R] a%-8ax—40ub—25b%=22 250" —8Bax—40ab
=(r45b)(r -5b)—Ba(x+5b)
= {x+5b)(x—8a—5b).
38. (#7) 2+t 1=t —at= @ a4 @t —a2+1)
=@ r+1)(@® — x4 1)@t — 224 1),
39. [(#2]) (@P42r—1)2—(a®2—2z41)2
=[P4 -+ - 22+ D] (2 + 22— 1) — (2 — 224 1)
=223(4x—2) = 42222 1),
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(&)

0. [#2]) (ax+byi®— (bxtay)t
= (ax+by—bx—ay)(ax+by+briay)
=[a@—y)—bx—y)][alr+y)+blx+y)]
=(a—b)(z—y)(a+b)(x+y).
41, [#8] 13- ax®—bir+abi=z(2?—b%) —ala®—1%)
=(x—a)@t+d)yz—b).
2. (] 2+bf—abr—a®b=2a%—ad)+bat-ad
= (x4 b)(x — a) (x® 4 ax 4 a?).
43. [#) a*—91%2+12bc—4c*=a?— (962 —12bc+4c?)
=at— (3b—2¢V¥ = (a+3b—2¢)la—3b+2c).
44. (#8] Ca®+12a%+6a+1=2a)®+312a,24+32a)41= (2a+1)5.
45, [#47] 2228432224 1l=(at—R34 2%+ (22t —-2a)41
=(2—2) 2422 —2)+ 1= (a2 —zx4+1)3,
43. (] (ax+by)* 4 (br—ay)?
=a%% 4 2abry 4+ by 4 b2 — 2abay + a?y?
=22(a? 4 b%) +y*(a* 4 1% = (a®+ %) [a® 4 b?).
47, [#2) 42+ 4a%—372® -372%4- 92+ 9
=4zt x4 1) - 3722 (x4-1) + 9z 1)
= (x4 1) (42t — 37224 9)
=(zx41)(4z? -1 (22 —9)
=@+ Rz+1)Rz—1)(z+3)(=x -3).
48. (W] 2*—4z+3.
yii) < dic e T g i bR
1404+0-44311
414123 —
1+1+1-3, 0[1
14243
14243, 0

2t — fz 43 = (z— 1)3(x3+ 22+ 3).,
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trEs NS HEE

40. [#g] 2*+Saxt€a®—ab—b =224 5ar4 (3a+b)(2a—1b)
=(x+3a+d)lx+2a—b).
60. [#2] 152°+2922—8zx—12 |
=15284302% — 2% — 22 — 62— 12
=152%(x4-2) —x(z+42, —6(x+2)
=(x42) (152 —2—6) = (x+ 2, (3z - 2) (52 +3).
61. [$8] abcx®4 (a*b*+c¥)a+abe=abex?+a*biz+ctrdabe
= gbzr(cx4ab)c(cx+ab) = (cx4ab) (abz+c).
62. [43] 22®—aa®—5a%r—2a%
R AR AKX
2-1-5-2|—1
— 24342
- 273-3, 0]2

+4+2
241, 0

(%] 28 -az®— 5&%- 6= (z4a) (x—2a)(2x+a)
63 [#] (a—b)r242ax+a+b)=(z+1)[(a—b)z+(atb)].
54' [ﬂ] x15___y15= (x5)8_(y5)3=(IS_yﬂ)(110+x595+y10)
=(r—y) (@ + 2%+ 2% 2y 1Y) (22t 2y + y?)
X (@® —aTy+2tyf —atyt a2 ¥y’ —xyT - y*
65. [#) ' —6aB472%462—8,
R a RS mEx
1—64+7+6—8)1
1—54+248
1—54248, 0] —1
—146-8
1-6+8, 02
28

1—4, 0
(] 26234724 6x—8=(x—1)(x+1)(x—-2)(x—4).
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§6. [47] 42*—-3x—1.

FEE &Rk A R R
440-3-1|1
44441
4xdx1, 0]—3
—2-1
2442, 0

2 ¥1
(%] 42°-3z—1=(z—1)2zx+41)3
67. [#2] 32°—101%—8z*—32%410zx4-8.
TR AR

3—10— 8— 3410481
3— 7-15-18—8

3— 7—15—-18— 8, 04
124204204 8

5% 54+ 5+ 2, 0]—%

—_2— 2~ 2
33+ 3+ 3, 0
1+ 1+ 1

(%] 32°—102%—828—322410248
=(xz—1)(x—4)(3z42) (@*+x+1)
58. [#F] O5xt+4-242%-—-1522-118z+24,
ik BB AR |
542415118424 12
104684106 —24 —
5434453~ 12, 0] -3

—15—574 12
5419— 4, 0]—4

—204+ 4 —
5— 1, 0

D[] 524 242°—1522 1182424 =(z—2)(z+3) (x+ 4) Bz —1).
59. [#] a’bc+tac®tacd—abd—ed—d?

=ac(abtc+4d) —diab+tc4d)

= (ac —d)} (@b+4-c+d).

e
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60. [#F] 2'+yt4et -2 —2%%—22%0
= (ﬂ“‘z‘zyz-ﬂf‘)—-(2f‘222~2y2z2)+34_.4y222
= (2 — 922 — 22 (2% — %) 24— dy%e?
= (2t -yt =24 — (2y2)? -
= (2 — Y2 — 22 2y2) (2 —y? — 22— 2y2).
=[22— y —2)¥][2?— (¥ +2)?]
={aty—2)z—yt+a@tyt)xz—y—2.

2 B XXII %204 g
RTHERZHCF

1. 10x3,%:% 4;53/‘23, 62%y°2% K atytztu.
(2] H C.F.=abyzs
2. [#8) (a+b)2a—b), (a+b‘a—b)% Kk a®b—ab.
a*b —at®=ab(a+b (a—b)
-, H. C.F.=(a+b)@=b).
3. W] v'+v*+1 Ky —y+l
VAP 1=+ D@y + D)
SCHGCF ==y 41
4. [#] a*—1, %425 +1 K a*+1.
a?—1=(a+1)(a—1)
a?4-2a41=(a+1)?
a4+1=(a+1)a?—at1)
. HC.F.=a41.
6. (#) a®—1 }; a®+ax?—azx—1.
' —1l=@—-D (" 4241,
24aa?—ar—1=(@x—1[2%4 a4+ a+1] *
s HOCF =2-1.
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6. M) 2*— 4 %448 R P4yttt
at—yt= 2P+ yhhaty)z—y)
a4yt = (2?4 %) @t — 2%y
x*+x?J+ e AN G S TAIRE 2 )]
.H.C.F. -xz+y

7. [#%) x2+5x+6 i — 2&12

14x—32.
2?24+ 524+6=(x4+3)(2+2)
22t r—-2=0+2)(x—1)
221420 —32=(x+(x—16)
SCHC Fo=x42.
8. [#2] G@—1)(x—2?) K 52*—152%}+ 8%+ 6x—4.
5x‘—15x8+8x2+6x d=(x—1)(x—2)5x*—2)
.HCE=x-1)x-2)
9. [#8] 2°-1 &13—41’ —4zx—5.
28— 1=(z—1)(@®+z+1)
— 4z —dx—5=(r—5)(a+z+1)
C. H.C.F.=a%4a+41.
(P—12%24+1)% K 34522 4+7243)(a?—62—T).
(22 -1)%(x41)%= (x4 1) z—1)?
(284524724 3) (22 —62—7) = (x+1)¥x+3)(z—~T7)
. H.C F.=(x+1)8

10. [#%]

11, (§7] (=—-1)%@-2? k& @*—3z+2)(22®—522+52—6).
(z®—32+4+2) (223 =522+ 5x—6)
=(x—1)(x—2)*(Rax*—x4-3)
S HCP =@=—1)(z—2)%
12. 18%] 22%—

322 —11x+6 K 42%4-32*—9z2+2.
248 =322 =11x46=(14-2)(22% -T2+ 3)
428 4-32% — Quf-2=(1+42;(42*® -~ Bz 1)
SCHC R =242,
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MR EERUBER

13.

14,

6.

16.

(#R] 2*—22°—2x—3 J 2P+ 2%+ —1.
1/1-2-2-3 241411
1+141 2—4—-4-6
—3|7—=3-3-3| 5+5+5]
_3-3_3 1+1+1i

0

. HLCF.=224+241.
(MR]) 32®4+22*—19z+6 J 22°+2%2—13x4-6.

34+2-194 6,;2+1—13+6 2
3|64+4—38+12 124212

2

64+3-39418| —1— 146 —1
I+ 1-6| —1— 146
Y1)

. H G F =1*42—6.

(] 2*—2*—-32342+2 K& 224+ 32°— 22— 32— 1.

1-2)1-1-34142/243-1-3-1/2
141—-1—-1 [2-2-64+244
—2_342+32 545-5-5
—2-24242 141-1-—1
0

S H P =284 -1,

[R) 32°—132%4232—21 Jg 62842 — 442421,

1-113-13423-21 64 1—dd421]2
3—10+4 7 6-—264+46—42
— 34+16—21, 27—9%0+463
- 3410— 7 3-104 7|1-1
6-141_ 3— 7
3— 7 B
| -3+ 7
0l

S. HC. F.=3z—-".
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17.

18.

19.

20.

(2.
1

'3x5+812—4x~15 ¥ 62441023 — 322 — 245,
34+ 8~ 4— 15|64+10— 3— 24 5| 2—-2
21456 —-28—-105(64-16— 8—30

21~t20—25 — 64 54284 5

36— 3-105| — 6—16+ 84320
84— 7 -245 2142025} 7—5
84480100 21435

(8] 6ab4-7at— 928 72432 B 6a®4Tat+ 3284 T2 — 8.
1—1'6-{—7-—9—7—{—3'6-}-7—}— 34+ 7-3]|1

(4]
3

345

—87 145 —15-2%5
3¢ 5 —15-25
0

. HoCo B = 3x4-5.

64+7—3 | 64+7— 9— 743

~6:7J;’5| 124146
=673 64 7-3
| 0|

C.H.CF =624+ 70— 3r=x62+T2—3).

6t — 384T 4 —3 K 22t 3284 T2 32+ 9.
6— 34 T+1— 3 2434 T4 3+ 9
6 042149427 6494214 9427 1

—12—14—8-30 6474 4415

64 T+4415 2417 6427
6— 349 €451 —184+81| 1

T10-5415 64+ 7T+ 4415

105415 44-22466

0 29— 14 3

S H.C R =22"—243,

(#8] 6a®—4at—11a%—32% —3x—-1 Jdat + 22% - 1827+ 32— 5.

6— 4—11— 3— 3— 1 4+ 2184352
3/12— 8-22— 6— 6— 2 4— 84 22
124 6—544 9-15 | 10-204+5-5]5

— 14432 154+ 9— 2 10-2045-5

28 — 64+ 30—184 4 0
28 414 —1264-21—35

— 784156 -39+391 -
29— 44 1— 1
S H.CF =22 4t 1.
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21 [#7) 25— -dx*—3x -2 J Bat 22 —-8x-3.

5/5— 0~ 3— 8- 3|1-0—-1— 4 3— 2|
5430+ 0425 5-0—5—-20—15-—-101
—30-83-33—-3/5—0—-3— 8— 3 1

10 04114114 1] —2-12—-12—-10 |

104+ 60+60+-50 14+ 64 64+ 5145

—49—49 -4y 14 14 1 ‘

14+ 14 1| 54 54 5|

54 54 5|

0

. B C F.=a2"4a+1.
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g E LXI %374H
1 #H% 2=-3, -2, —1,0, B4 y=—20,6,0,4 3 z=—5/2
MR o=—1/2 By £, .
(%] Ba z=-3, xz3=-2, x3=-1, 1,=0;
y.=—20, y,=6, y;=0, y=4
Yy ZEdesi ¥,
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RAZK

- . — — xg)(w — 13)
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— 204 (x43)e 26 —16(x+2) (2 +3) +T@+1) 24D (z+3)
= 7x3+ 26224232+ 4.

g = -5 a#, y:?\-———) +26(—§-)2+23(—£)+4= _%.

o=, y=7(— ) +26(—5 ) +28( ) 4= -2

2. BRSW=10,76)=—12, f(7)=—20, f(8)= —18; Bk /(2)

TR R £(12).

(B8] B  F(@)=Dbetbizrbya®4bgat e mennieinnnniinnnn(l)
J:U} F(4) = by 4 4by 4 16bg+ 64by == 10veeceese. )
F(6) =by+6b;+ 36D, 4216b; = — 12 wreveererrrreenes (3)
F(1)=byAThy +49by 43435 = — 20 wereerseeercnagens(d)

F(8) = byt 8b;+B64by+512b, = — 18 +eene
B2, @), ) R 6) B, 75

by= —90, by =73, by= —16, by=1.
A D) R, fl@)=—90+4+73x—1622428,

£(12)= —90+73+12 — 16+ 14441728 = 210.
3 E,ga 95% =625, 262= 676, 272=729; JAEE MR 26.54.

%] 7y, T, x3=25, 26, 27

v, Y1, Yya=625, 676, 720,
—PE2E 51, 53,
R " 2,

(26.54 —25) (26.54—26) ,

o y=6254(26.54—25)51 4 2

=625+78.54+0.8316 =704.3716.
4. P 28=8,38=27, 49=64, 53=125; FEIEBR 4.5%

[ﬂ] Iy, 9, Ly 2{4“2; 3. 4, 5
v, B ¥s, %0=8, 27, 64, 125

v (5)
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—PEE 19, 37, 61

— xR 18, 24
=MgE 6 )
S i=84 (4,8-2)19+£‘.1_-§:_?_%_§4-8-3),18

5. B8 1/22=0.04546, 1/23=0.04348, 1/24=0.04167, 1/25 -
004; JHiEEMR 1/23.6. :
(98] x1, 19, Ty, 2, =22, 23, 24, 25

Y1y U Us, ya=0.04546, 0.04348, 0.04167, 0.04

G

" —0.00198, —0.00181, —0.00167
—p= 0.00017,  0.00014 .
= e , —0.00003 -
" z=23.6.
. y=0.045464(23.6 - 22) (- 0.00198) + 33:6~ 2255?3'6‘23)(0.00017)
L @3:6-29)23.6-99)@3.6 =20 _ o 00003

3]
=0.04237552.
6. BR A/33=20.7846, +/733=20.8087, /434=20.8327,

/435 =20.8566, +/436=20.8806; JBiE=ikk +435.7. :

(] =1, 2, 23, 74, 5= 432, 433, 434, 435, 436
Uy, Uz, Us, Us, ys=20.7846, 20.8087, 20.8327, 20.8566, 20.8506

—g%E 0.0241, 0.0240, 0.0239, 0.0240
bt 53 : —~0.0001, —0.0001, 0.0001
=REE 0 0.0002
mpg = : 0.0002

z=435.7.

sy =20.78464 (435.7 — 432)(0.0241)

4357 = 4322)§435.7 —433)(_00001) +0-
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+ (435.7 —432)(435.7— 4332 ’(435.7 —434)(435.7 - 435){0‘0002)

== 20.7846 +0.0892 — 0.0005+0.0001 = 20,8734,
T HMRBEBEARRERSEL,BaLERc=—2,0,4,5
Zﬁﬁ 51 3: —-2: —4
[ﬂ] xy, g, T3, L4= _21 0; 4| 3
y], Y2, Y3, ?/4:5, 3» _'27 '—4

(z—0)(x — &z —5) G L Et )
(—2=0)(=2—4)(=2-5) " "(U+20—4)(0-5)

_ @+ NE-0)(@—5) @+ @@—0)(z-4)
T@42)(4-0)(4—-5) (5+2)(5-0)(5—4)

5a®— 4522 4100z | 323 — 2122+ 624 120

y=35

-+

84 40
228 — 622 — 20 2% —82?—32a
24 35
_2520'—8)6x — 922 — 132
o 840 '
& B LXII %38 Y

1. % log 4, logs 2, logyz8, logs 625, logs 729, logy, 0.001,
log, 1/64, log, 0.125, log,~a~2, logg 128, log,? a®. o
(#2] (@) logyd=n=, =4=2% S ox=2.

(b) log, 2=z, 43:2——-41}. =4

(c) logys8=x,  4/2°=8=4/28, ;. x=6.

d) logs62B=x  57=625="5" =4

€) logs729=z, 3°=729=3% - r=6.

(f) loge 0.001=2z, 10°=0.001=10-8%, -, z=-—3.

1 1 - .
() 1082542-‘5» 2’=a=2 5 c.oz=—6.
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() logy, 0125 =x, 28=0.125=2-%,  2=-3
S
() log,~a=zx, a*=~/a"%t=a 3, . z=-3%
i

(j) logg128=x 8" =128 =83, z=1%.

(k) loga2a®==x, a?*=q¥, =4
2. # logqe 2=10.3019 {fij log,, 3=0.4771, s 12, 9/2, \/2 NLRY!

10 BEZHB.

[ﬁ} (a) IOg]O 12 = lOglg 3 X Zzzloglg 3+2 logm 2

=0.477140.6020=1.0791.

2
(6) logse - =10gse o = 21003 — loge? = 0.9542 - 0.3010 = 0.6532,

(c)
(d)

logie v/ 2=} logye 2=10.1505.
logse ¥/ 3=—;— log2x3= %[logm 24logye 3]

—_-%(0.30104-0.4771)_—.0.2594,

3 4 log,600% 1l log, 2, log, 3, & log.5 %Z.

(4] =} log, 600=1[log, 28+ 1oz, 3+log,5%]
=4 [3 logs 2+1og, 342 log, 5].
4 WTRIERBRIE o 2B, M log.b, logac, logad iz,
1y o das, @ VB Ve a,

logs 600°

3,

log,,b 6; =10g, b"ﬂr ~log a5

(#2] @

z -} 4

=log, b*+log,c ¥ —log, d?
2 1 4

= _3_Iog,, b -——2‘;—log‘z c— ?log, d.

@) log.[Va /08 =V b4/ —aF] :log.(d“z\/E“;%j1og,(bas/tﬁ)*
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' -2 1 3 _3
=1log, (@ %) (b%% —log, (b%)(a” %)
-2 3 -8
=logsa °+4log, b—log, b? —log,a %
= _%mga a-flog, b —~?—loga b +—?-’—log, u

1 1
= -1—210;;,, a— loga b= loga

5. SREE log, «/81‘\/729 9% —31/18.

(BB logs ¥81V720-97F = log, [81V/729.9°3 ¢

=1logs [81-729%.9777]¥ = log, [34 3t.gmlegh

= logg [3-3- . 3%- 3_3-] = logﬁ 3%-8- = Ig

6. ®B logax+v’rz =2 log, (x4 /Z2— 1
() logStYE Lo (x+°‘/x2 1

i\/FH $ a2 i1

=log, (x4 a2 —1)2=2 log, (v A/ 22— 1).

g B LXII 55989

ARERTRERZELE.
1. [48) 79%x470%0.982,
log 79 % 470 % 0.982) = log 794 log 4704 1log'0.982
=1.897634-2.672104+1.99211 = 4.56184.
79 % 470 % 0.982 = 36460,
2. [#&] (—9503)x(—0.0088578)=9503 % 0.008657%.
log (9503 % 0.0086578) = log 9503 4-log 0.0086578
=3.9778643.93739=1.91525,
s (—9503) % (—0.0086578) =82.28,




2 % 33y

(48] 1375600 % 8799000.
log (1375600 % 8799000) = log 1375600 41log 8799000
=6.1385116.94443 =13.08294.
1375600 % 8799000 =1.210 % 103,
(48] 0.0356 % (—0.00049) = —(0.0356 % 0.00049).
1og(0.0356 % 0.00049) = log 0.0356 4-log 0.00049
=2.55145-4+4.69020=5.24165.
0.0356 x (—0.00049) = — 1,744 % 10-5,

8075
Ch#] 364.9
iog 8075 +4-colog 364.9 =3.90715+43.43791 = 1.34506,
.S_‘X’E = 22.13.
4.9
0.00542
(#%] 0.04708 i
log 0.00542 —-log 0.04708 =3.7340 — 2.67284 =1.06116.
0.00542 _
;04768_0.1151.
24617

(#%] —0.00054"
log 24617 4-colog 0.00054 = 4.391243.2673 = 7.6588.

24617
~0.00054

0.643 % 7095
(8] grioxo.462

log 0.643 +log 7095+ colog 67 colog 9+ colog 0.462
=1.80821 4 3.850954-2.17393 4 1,04576 4 0.33536
=1.21421.

—4.558 % 107,

0.643% 7095

- FTxoxo0.4es 1638



340

WhESRMSE R

190.

11.

12.

13.

14.

15.

16.

9097 % 5.4086
[#2] —225% 593 % 0.8665

log 9097 4-log 5.4086 +-colog 225 4= colog 593 -+ colog 0.8665
=3.95894-0.73314-3.6478 4 3.22684-0.0622 = 1.6288,
. 9097 % 5.4086
Tt —225%593%0. 8665
[#8] (2.388)"
5 log 2.388=5x0.37804=1.89020.
(2.388)% = 77.66.

—0.4255.

(4] (0.57)~%.
—4 log 0.57 = — (4% 1.7569) = — (1.0276) = 0.9764.

o (0.57)-%=9.472.

(1)

9(log 194 colog 11) = 9(1.2788 4-2.9586) = 2.1366.,

(g)” =137,

[#%] (1.014)%, o )
25 log 1.014 = 25(0.00904) = 0.15100.
(1.014,25=1.418.
(#7] V67.54. A
$log 67.54 =14 (1.82956) =0.91478.
4/67.54=8.218.
(48] ~/—0.30892.
4 log(— 0.30892) = —}(1.48985).

s &/ 20.30892 = —0.6761.

(A2 8-
5 log 8 =3 (0.90309) =1.12886, '

8% = 13.46.



17.

18.

19.

21.

(42] (0.001)%
% log 0.001 =% (3.0000) =2.0000.

0.001)¥ =0.01.
9\
[#2] (2911) :

1 328 1

log 222 =

11 ”2'(

& log 328 4-colog 11)
=%-(2.51587+§.9586) =‘i(1.4745) —0.73725.

(29 \* 5.461.,

(#8) «/%X«/zg

# (log 54colog 6)+4 (log 794colog 45)
=4 (0.6990 +1. 2218) +3d. 8976+§.3468) =0.04187.

\/5 _,=1101

(] 401+ (0.009)%.
4 log 0.14 } colog 0.009 = —0.50000 4-1.22745 = 0.72745.

— 3
4/0.1+(0.009)% =5.34.

[#2] (0.00068)7%. ,
— 5 log 0.00068 = — £ % 4.83251 =0.95936,

(0.00068)"% = 9108.

2 8.4
) (53)
3.4 (log 12 4-colog 3) = 4.423504-2.377792 = 2.80129,

9 8.4_
(6-3—> =632.8,
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23.

24,

23.

26.

WExHSRNRURL2ES

3 3
[#8] (—9306)7= —(9306)7.
2 log 9306 = X 3.96874=1.70089,

1
(- 9306)7 = —50.22.

[#2] (0.0057)25.
2.5 log 0.0057 = 2.5 X 3.7659 = 6.41455.
2 (0.0057)%5=2.592 % 1078,

s L
(2] (5618)% % (—0.94)%
& log 564841 log 0.94 = 1.87595 +1.99103 = 186698,

1 1
(5648)7 ¢ (—0.94)F = —73.6.
[#2] 289270 =(0.8)5.

3 log 28927 4 2 colog 0.8 =13.38391540.03876 =13.422675.

217.

28.

29.

2899273 = (0, S)SL” 647 % 1013,
Jo 0476 X Jzzz

(e /5059 % 0.0088
$log 0.0476 -+ L log 2224 4(colog 5059 4-colog 0.0088)
=1.811140.46924-1.45049 = 1.73089.
RA004T6 % U222 pgoq
/5059 % 0.0088
8/943 X 7298
(821 $/0.00006 % 0.99
#(Jog 943 4log 7298) 4 L(colog 0.00006 +colog 0.99)
= (2.97454+3.86318 + 1(4.221840.0044)
=1.1396140.84524 — 1.98455,
8/94:2 % 7968
* T S e e e :96"?‘7'
3000006 % 0.99 ’
854 X /0.049
el N

7.9556 % Y 0.0005
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% log 85444 log 0.042 41 colog 7.9856 - % colog 0.0005
=1.4657541.77054141.548844-0.41263 =1.197761.

854 % A3/0.04%
; =15.77
~/7.9856 % o/ 0.000%

1
7% 99% % (0.0 +
(0.00026)5 5968

T4 log 74} log 92+ 4 log 0.0145 colog 0.00026 4 colog 59687

4

(l

12
=0.07042+0.13099—0.3333 4-5.9750 4 1.58046 = 5.42357.

8 7111 2?‘;’ 0. 'b’
\/3}_9_}( 0D =2.652% 108,
(0.00026)> x 59683

1 log 7+—lob 92+—(15—10g 0.01+-3-colog 0.00026+—-colog 3968

® B LXIV ~ mmg

1- }R 10g5555, 100'70 0463 Ioglgg 47

e log555_2.7443
.
(#%] Tog, 555 =08 25 = T = 3:92603.

log 0.0463 _2.6656 _ _
Tog 7 08451~ 178

5 _ log 47 _1.0721 _
_ logieedl = og100~ 3 0.83605.

2. ST RARBOSRRA: |
(1) 3°=729. @) a”+r=at (3) 213°=516-%44,

] @ 3°=729,
z=1logy 129 =

logy 0.0463 =

log 729 _ 2.8627 _

log 3 T 047717
@ a“t=a¥, }Eﬁéﬁ*ﬂ%,ﬁﬁb‘ﬁ?”%?#ﬁ‘%
°. —3x42=0,

*
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SRR R (z—1)(@—2)=0.
Sooxz=1 R 2.
(3) 213°=516-%+4,
loggys 516+ =1,
(—z+4loges 516 =2x.
log 516 _ 27126
log 213 2.3284
10.8504 =5.041z.
z=2.152.

!D "":x-—;= 10g213 516 =

3. MTFHNAEMBEER,
1) log z+log(x+3)=1. (2) loga?+logaz=2.
(3) log(1—2x)%—log(3—2)8=6. (4) gzlosz=2,
[(#®8] ) logz+tloglx+3)=1.
¢ log [z(z+43)j=1log 10.
22 4-3x—10=0,
SRR (x+5)(x—2) =0,
, rz=—-5 K 2.
(2) log a®4log z=2.
log a®=2.
log z=2=10.6666.
x=4.642,
3) log(l—2x)%—log(3—x)8=6.
3 log(1 —2) — 3 log (3 —x) = 6.

log 13_‘_‘_2;“: 2=log 100,

. 1-2zx
R =100,

& 1—22=300—100z.
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B 982 =299,
299
=" =3,
x 93 051.
(4) azlogr=12,

(log 7)%=log 2=0.3010,
]<ng:\/m:0.549.
. x=3.037.
4. FME D%, FIBMEFARYP, KEe 7500 B=T+HEHZ
AFIRI,

o5
(%) A=P(l4r)" —~-7ooo[1 +]00]
log A =log 7500435 log 1.05 = 4.6171.
A=41410.

(%] =THedzifmeg 41410 5c,
0. pFIE 3%, MBAEEIAALN, R4 5500 Bk
4 F i,

A-p(1+7)" =5500[1 °
w0 sl ]
log A = log 5500440 log 1.015 = 4.004.

A=10010.
(2] AF|RE 10010 55,
6. RBAG—THVS% "Fﬁ’»fﬂ%}‘ﬁ;ﬂ’J#i‘ﬂi‘;ﬁi&%?ﬂU@fﬁ’i—-ﬁi
b, R R E A U
(53] A= P[1+100J = P% 20790 evee
s TAE 6, A M RIERT = —{5LLLE,
% a=p[1e ) 1T e Px 102,08

Wesn b EAE S, AFMEE BEGHUE,
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‘. EME 4%, DYRREF, T aparnsg 1250 |, 4%
T

(#%] A=P(+r)"

15
1250 = P<] + ’gﬁ>
log 1250 = log P+ 15 log 1.04.
Yog P=3.0969— 15 x 0.0170 = 2.8419.
P=694.8.
(%] A4 6948 53¢,
8. M AfpAEfE AGEEMAT 200 @, R 3%, P RapEA R
LT

(48] A=200[1.035-(1.035)%4 evvee 4 (1.035)257,
ar L (1.033)7 1
9] |24
# §701, A=200% 1,035 % 2

=200%1.035% 1.363 =0.025.

.

log A=1log 20041log 1.035 4 Tog 1.363 +colog 0.035
=2.301034-0.01494-4-0.13450 |-1.45593

=3.90540.
A =8030.
(%] BART-FEEHILSEE 5030 5%,
9. ERIE 4%, H—RA G BAT, HEEIF =R fy 4 & 1200
[Bl 2 54 U 28 s A1 4R @ ) A fef 2
_AT, 1 o100,
[##) P’T[l (I47," J“b””i[l (1.04)89]
_ 1200 2.236
T 0.04 7 3.936

236 _ oamaq o
"3(°O°X5z56 =20730 ¢,
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EBRABRESA  P=_—=577=30000 5¢,

(%] A—ZAE 20730 TLHAMBA=-IEGEEE 1200 L4
& U OB AR G U H— R 4 4 30000 I,

100 # cREAZAUMNBLE, Mia b ﬁﬂﬂ__i&ZEy LU
b=+cta)c—a), 44 c=586.4, a=312.2, WHAMBOR b Ec..aﬁ?fﬁ
2

(#] B b= \/m, c=586.4, a=312.2,

log b=4§ [log(c+a) +log(c—a)]
=4 [2.95357 4 2.43807]=2.69582.
. b=496.4.
iifi:d : A=} ab. -
log A=log a+log b+colog 2
=2.494462.6958241.6990 = 4.88928,
A=77500,

(%] b=4%6.4 EHEE 77500,

11. # a0, c HRZAVHEEZE, i s=(@+d+0)/2, NI=AF
CZHBES Vss—a)(s-b) s—c). 44n a=416.8, b=424, ¢ =25.68, 3R
ZARZEE. ' ’

(8] B4 s=(a+btc)/?, A=s(s—a)(s—b)(s—c); a=416.8,
b=424, ¢=25.68. '

_416.8+424425.68
2
log A=4%[log s+log(s—a)+logls —b)+log(s—c)]
=4[2.63.474+1.2158840.965704-2. 610,.16]
=3.714268.

= 433.24.

A=5179.
%1 PoRER®E 5179,
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12, sk w=3 1416, FURADR S=4mr?, V=4m3/3, R BE,
3.6 R e B RREEL.
(] & 7=3.1416, S B2 EWH, V AHEH.
log 8 =log 4+log 7m+log r?
=0.6021+0.497154-2.7458
=3.84505.
.. §=6998.
log V=1log 4+log m+4log r¥+4colog 3
=0.602140.497154-4.1187 41,5229
=4.74085. '
¥ =55050.
(%] mZEBEHS 6998, fAm 55050,

2 B LXV 05

1. PHBLH, HEE=, hHERBETEE -, AR ET
WA BB, AN b TR T AL MR AT e

(%] ARFEZCACIHEHIEBLERECIHMFEARETEH
CLBHIEHABETIHEA C1-C1-C1=3X2x4=24 ik,

2. ABTERZHERS, LBk

[$8] HEABENERRBRZIH E, K BB P

(i3] Pi=6%5%X4%3%x2="720.

At A 720 MR,

3. AANESENFEE, HFE R BB B= 02 EEH A B

(R AATBEBHE—#, B -4A, F=LZHNNFHER Pl

Wi P3=8-7-6=236 W hk, PRz H:dkf 336 18,

4. dokFEA ABEN Mﬁﬂ%%ﬁﬁéﬁ?‘i&?ﬂ%}\ﬂ&ﬂiﬁﬁ
Bred vk

8] FABREAZHEE OO, HFELE FRHF BB P,
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P19=10.9.8.7 =5040.

t AR AT HA 210 &, B A4 A EE 5040 18,
5. qEt—HAPBEWRDA, Ik B H R
(] E1—AERER=4ES

100-99.98

190 = e 161700 ®h ik,

6. FMBIRIE, ST — M IR TR A4 40 S R A4 - =
R AIR PRI RSk )
(821 LRS- —%, RIBH 8 O, WERALES R, &

L& 3-0=3-2"2=30 %,

e HeFe H HESL L 28 30 %,
7.1,2,1,3,2,1,5 3, SR, LS EHRI
(41 #£1,2,1,3,2,1 5 LEYNEd, =M 14 R, =142 aH,

BT R B i R é%ﬂzo HAH. §766.

8. “factoring” —t ik GRS LI, Hrh (1) LBEE
“HTHRESEY 2) [ FEENE LES O BEERLS MR
B L F T

[#] 7 factoring —5=d, FEHF M, TH HAM.

) BRABE & A C kB, KUABTF,H C BB,

SRS UL, e 0 0 B ok B 1 AL A, AR - A ST U AR
CEAE It P ddE:,

BB FBUTTRHFILF 0308 P1=3.6-(7 =70720 MHik,

@) B FEER, . U RERBABLR A P,

K AMCETEEHNA P @k, ,

B f FIERBZ BRI H ikt Pl Pi=8.8 =322560 M Ak, .
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